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1. There are 12 picture cards (P), 20 red cards (R), and 20 black cards (B)
in a deck. Aubrey and Gavin each randomly pick a card from the deck.
Aubrey picks a card first before Gavin picks.
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a. Determine whether the evenfsin this it‘?'non is dependent or 5&9—
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c. Find the probability that Aubrey and Gavin both pick picture cards.
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d. Find the probability that Aubrey picks a red card and Gavin a black
card, or vice versa.
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M 2. Chris and lan play against each other in a game. The probability that
/ Chris wins a parficular game is 0.6. If Chris wins, the probability that he wins
the next game is x. If Chris loses, the
is 0.5.

probability that he wins the next game

a. Determine whether the events in this situation is dependenf or

independant, /Z/:/)&r 2d ert

b. Draw a free diagram fo the possible ouicomes

c. If the probability that Chris wins both
games is 0,42, what is the value of x2
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d. What is the probability that |
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e. What is the probability that lan wins at least one of 1hefomes?
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3. There are 2 green parly hats and 3 red party hats on a table. Steven
u)rcmdomly selects a party hat from the table. He fries the hat on, and then
places it back on the table. He randomly selects another party hat.

a. Determine whether the events in rhls situation is dependent or
independent. /42 //;;5}// 24

b. Draw a tree diagram to represent the _‘é;.
possible outcomes. o5

c. fFind the probablhly thoT Steven selects 2 red
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d. find the probability that Steven selects  red party hat after he first
selects a green party hat.
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Lbfrun basket contains 3 apples, 4 oranges, and 5 pears. Victoria and
Lexi each randomly select a fruit from the basket.

a. Determine whethey the events in this situation is dependent or
independent. =
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b. Draw a free diagram to represent _/_5__ O
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c. Find the probability that Victoria selects 4 3
an apple and LeX| selects a pear. // -A_
/”(/4-, sl { ) @
)
of // .y 75 £
/L/

P

d. Find 1h§£robob|hty that an orange is selected by either V’ctona
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5. A box contains 2 blue cords 3 red ‘cards, ond & yeIIow cord\‘ﬁ'{er»
randomly selects a card from the,box, and replaces it before he randomly

selects again.
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a. Determine whether the events in this sxfuoff
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b. Draw a tree diagram to represent

=
the possible outcomes.
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d. Find the prebability that he selects a blue card, followed
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c. Find the probability that he selects
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e. Find the probability that he selects a yellow card, followed by ared
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